800.645.2876

SYSTEM COMPONENTS

\'A'[S0"[e]eTe B CIRCULATOR & FEEDER PARTS

1.50"

I O I -

imy o o 5

[IK- © 20 B AENE\=

- D 2.83"
H10-1 H15, -1

00O

°®3 RED RUBBER

%02 Gasket Material D D

O Ofo%0o ] .

I I |

O O O/o 0O o ot

H21

BOILER, CIRCULATOR, FEEDER PARTS

5WH22-4PK

Item No. Description
H10 Circulator Flange Gasket Kit, (2) - RED rubber flange gaskets, (4) - 7/16"X1-3/4" bolts w/nuts
H10-1 Circulator Flange Gasket Kit, (2) - BLACK neoprene flange gaskets, (4) - 7/16"X1-3/4" bolts w/nuts
H15 Taco RED rubber flange gasket, package of 10 gaskets
H15-100 Taco RED rubber flange gasket, package of 100 gaskets
H16-100 Taco BLACK neoprene flange gasket, package of 100 gaskets
H21 Flange Gasket Material, Red Rubber, 1/8" Thick X 12" X 24" Sheet
SWH22-4PK | B&G(small), Taco, Modern Flange Nuts and Bolts, (4) - 7/16" X 1-3/4"
SWH23-1PK | Dirt pocket cap for McDonnell & Miller (3/4"- NPT) w/gasket and (4) bolts
H23-1 Blow Down Kit for McDonnell & Miller (dirt pocket cap, full flow ball valve, nipple, gasket, (4) bolts

H4



